

CENTRAL MARKETING AREA

FEDERAL MILK ORDER NO. 32

United States
Department of Agriculture

Agricultural Marketing Service Dairy Program

Tel.: (913) 495-9300 --- Fax: (913) 888-9207

email: market.administrator@fmmacentral.com website: www.fmmacentral.com

Mailing Address: PO Box 14650

Shawnee Mission, KS 66285-4650

JANUARY 2023 STATISTICAL UNIFORM PRICE ANNOUNCEMENT

Producer Milk	Percent	Pounds	Minimum Class Price
Class I	26.52	387,151,639	\$24.41
Class II	6.42	93,813,698	21.61
Class III	49.47	722,432,831	19.43
Class IV	17.59	256,902,787	20.01
Total Producer Milk	100.00	1.460.300.955	

Computation of Uniform Price (per cwt @ Jackson County, MO)		Component Prices	3
Producer Price Differential Class III Price (@ 3.5% Butterfat) Statistical Uniform Price (@ 3.5% Butterfat) Statistical Uniform Price (@ Average Pool Component Tests)	\$0.80 <u>\$19.43</u> \$20.23 \$23.36	Butterfat Price Protein Price Other Solids Price Nonfat Solids Price SCC Adj Rate (1,000 cells)	\$2.7713 /lb 2.8058 /lb 0.2343 /lb 1.1864 /lb 0.00099

COMPUTATION OF PRODUCER PRICE DIFFERENTIAL

February 09, 2023

Released:

		Product Pounds	Price per cwt / lb	Component Value	Total Value
Class I	Skim Milk	378,683,910	\$13.32	\$50,440,696.81	
	Butterfat	8,467,729	3.3027	27,966,368.57	
Less:	Location Adjustment to Handlers			591,085.43	\$78,998,150.81
Class II	Butterfat	12,822,471	2.7783	35,624,671.18	
	Nonfat Solids	7,721,662	1.3689	10,570,183.12	46,194,854.30
Class III	Butterfat	30,745,020	2.7713	85,203,673.95	
	Protein	24,383,436	2.8058	68,415,044.75	
	Other Solids	41,744,436	0.2343	9,780,721.37	163,399,440.07
Class IV	Butterfat	9,970,376	2.7713	27,630,903.00	
	Nonfat Solids	23,653,819	1.1864	28,062,890.87	55,693,793.87
Total Class	ified Value				\$344,286,239.05
Add:	Overage - All Classes				2,250.67
	Inventory Reclassification - All Classes				(146,775.40)
	Other Source Receipts	624,835			19,619.82
	Somatic Cell Adjustment - Classes II, III a	nd IV		_	1,586,680.20
Total Pool	√alue				\$345,748,014.34
Less:	Value of Producer Butterfat	62,005,596	2.7713	(171,836,108.20)	
	Value of Producer Protein	49,134,926	2.8058	(137,862,775.41)	
	Value of Producer Other Solids	84,365,125	0.2343	(19,766,748.80)	
	Value of Producer Somatic Cell	203		(2,130,227.44)	(331,595,859.85)
Total PPD \	/alue before Adjustments				\$14,152,154.49
Add:	Location Adjustment to Producers				(2,329,742.86)
	One-half Unobligated Balance - Producer	Settlement Fund			574,495.88
Less:	Producer Settlement Fund - Reserve			-	(709,501.24)
Total Poo	I Milk (w/URSP) & PPD Value	1,460,925,790			\$11,687,406.27
	Producer Price Differential		\$0.80		
	Statistical Uniform Price		\$20.23		

(Selected pool and price statistics on next page)

CENTRAL MARKETING AREA FEDERAL MILK ORDER NO. 32

Payment Schedule

Payment Dates for the Month of:

JANUARY 2023

Payments TO the Producer Settlement Fund DUE by:

February 14, 2023

Payments FROM the Producer Settlement Fund DUE by:

February 15, 2023

Final payments TO a Cooperative Association must be RECEIVED by:

February 16, 2023

Final payments TO Producers must be RECEIVED by:

February 17, 2023

Producer Price Differential and Statistical Uniform Price, by Zone Differential

	Zone Differential ^{1/}	Adjustment	Producer Price Differential	Statistical ^{2/} Uniform Price
		dollars per hu	ndredweight	
As Announced:	2.00	0.00	0.80	20.23
Other Zones:	1.75	(0.25)	0.55	19.98
	2.10	0.10	0.90	20.33
	2.20	0.20	1.00	20.43
	2.45	0.45	1.25	20.68

^{1/} Differentials listed apply to zones included in the Central Marketing Area. Outside of this area, differentials may be above or below this range. Differentials apply on a county basis.

Producer Milk Received by Component Pounds

	<u>Skim</u>	<u>Butterfat</u>	<u>Protein</u>	Other Solids	Nonfat Solids
Producer Milk Receipts			Pounds		
Class I	378,683,910	8,467,729	13,157,835	22,838,863	35,996,698
Class II	80,991,227	12,822,471	2,841,820	4,879,842	7,721,662
Class III	691,687,811	30,745,020	24,383,436	41,744,436	66,127,872
Class IV	246,932,411	9,970,376	8,751,835	14,901,984	23,653,819
Total Producer Milk	1,398,295,359	62,005,596	49,134,926	84,365,125	133,500,051

Selected Poo	I Statistics
--------------	--------------

Skim 29.00 % Butterfat 4.25	%
Butterfat 16.00 % Protein 3.36	%
Other Solids 5.78	%
SCC 200	

Administrative Assessment and Marketing Service Deduction

§ 1000.85 - Assessment for order administration \$0.040 per hundredweight

§ 1000.86 - Deduction for marketing services \$0.050 per hundredweight

^{2/} Prices at 3.5 percent butterfat, 2.99 percent protein, and 5.69 percent other solids.

UNITED STATES DEPARTMENT OF AGRICULTURE AGRICULTURAL MARKETING SERVICE, DAIRY PROGRAM

Todd D. Wilson

(913) 495-9300 Phone: (913) 888-9207 Fax:

Email:

Mailing Address: PO Box 14650 Shawnee Mission, KS 66285-4650 market.administrator@fmmacentral.com

January 2023 Federal Order No. 32

\$2.55

	Class I Differential	Location Adjustment from Jackson County, MO
POOL DISTRIBUTING PLANTS		
Anderson-Erickson Dairy Co, Des Moines, IA	\$1.80	(\$0.20)
Aurora Organic Dairy, Platteville, CO	\$2.45	\$0.45
Braum, W.H., Inc, Tuttle, OK	\$2.60	\$0.60
Central Dairy Co, Jefferson City, MO	\$2.00	\$0.00
Dean Dairy, Le Mars, IA	\$1.75	(\$0.25)
East Side Jersey, O Fallon, IL	\$2.00	\$0.00
East Side Jersey, Sioux Falls, SD	\$1.70	(\$0.30)
Farmers' All Natural Creamery, Wellman, IA	\$1.80	(\$0.20)
Hiland Dairy Foods Co, LLC, Chandler, OK	\$2.60	\$0.60
Hiland Dairy Foods Co, LLC, Kansas City, MO	\$2.00	\$0.00
Hiland Dairy Foods Co, LLC, Norman, OK	\$2.60	\$0.60
Hiland Dairy Foods Co, LLC, Omaha, NE	\$1.85	(\$0.15)
Hiland Dairy Foods Co, LLC, Wichita, KS	\$2.20	\$0.20
Jackson Dairy, Hutchinson, KS	\$2.20	\$0.20
Kroger Mountain View Foods, Denver, CO	\$2.55	\$0.55
Meadow Gold, Englewood, CO	\$2.55	\$0.55
Prairie Farms Dairy Inc., Carlinville, IL	\$2.00	\$0.00
Prairie Farms Dairy Inc., Dubuque, IA	\$1.75	(\$0.25)
Prairie Farms Dairy Inc., Granite City, IL	\$2.00	\$0.00
Prairie Farms Dairy Inc., Olney, IL	\$2.00	\$0.00
Royal Crest Dairy, Inc., Longmont, CO	\$2.45	\$0.45
Safeway Stores, Inc., Denver, CO	\$2.55	\$0.55

Sinton Dairy Foods Co, LLC, Colorado Springs, CO

\$0.55

POOL SUPPLY PLANTS	Class I Differential	Location Adjustment from Jackson County, MO
Associated Milk Producers Inc., Freeman, SD	\$1.75	(\$0.25)
Central Equity Milk Coop, Fairland, OK	\$2.40	\$0.40
Dairy Farmers Of America Inc., Fort Morgan, CO	\$2.35	\$0.35
Dairy Farmers Of America Inc., Garden City, KS	\$2.20	\$0.20
Dairy Farmers Of America Inc., Independence, IA	\$1.75	(\$0.25)
Independent Dairy Producers, Boise City, OK	\$2.40	\$0.40
Prairie Farms Dairy Inc., Luana, IA	\$1.75	(\$0.25)

COOPERATIVE ASSOCIATIONS AS POOL HANDLERS

Associated Milk Producers Inc., New Ulm, MN
Central Equity Milk Cooperative, Inc., Springfield, MO
Dairy Farmers of America Inc., Kansas City, KS
FarmFirst Dairy Cooperative, Madison, WI
Foremost Farms USA Cooperative, Middleton, WI
Great Plains Dairymen's Association, Sioux Falls, SD
Independent Dairy Producers, Hilmar, CA
Land O' Lakes Inc., Arden Hills, MN
Lone Star Milk Producers, L.C., Wichita Falls, TX
Organic Family Farms Cooperative, Santa Fe, NM
Prairie Farms Dairy, Inc., Edwardsville, IL
Rolling Hills Dairy Producers Cooperative, Monroe, WI
Select Milk Producers, Inc., Artesia, NM